S KT Dt
ord

HE: OIMEH W - =PIIB DE(SIE AL/ T - 21
Rl g - S SEHS} EER=E)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
KA TH 10 132,009,317 118,549,029 13,460,288
= 7,440,838
[ 76,433,900
= 48,134,579
%g)@ I - S0 PH(SSEARLH /T - e 131,547,987 118,074,337 13,473,650
= 7,440,838
= 76,433,900
[ 47,673,249
2N - s dgdst 1,634,570 1,367,637 266,933
= 316,600
= 1,317,970
JESENXE HtdelzSX2dE 2 X3 (=12) 87,800 77,824 9,976
= 43,900
= 43,900
308 AHXIHMS0IA 87,800 0 87,800
= 43,900
L= 43,900
18 SIS0t 4 A A A 87,800 0 87,800
OHHASENXE Mtacl2=sA2dH 2
RN 87,800
= 43,900
[ 43,900
Ote+s Z20d 2H(31) 25,400 22,000 3,400
= 12,700
= 12,700
308 AHXIHMSO0IA 25,400 0 25,400
= 12,700
S 12,700
18 SO 2SS 4 2AE AR 25,400 0 25,400
oltE+s E2d 24 25,400
= 12,700
== 12,700
NS Tetae| it sgaeldy 75 - 29 (32 520,000 520,000 0
)
= 260,000
= 260,000
201 et 3| 520,000 520,000 0
= 260,000
= 260,000
01 At22teltl 520,000 520,000 0
OXg M|t Ser2c|diE &xt - 2
2HIE 520,000
= 260,000
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2A:

M OB YT - =PI DH(DDEMNUOE/THHLTY - 012
R YN - S At (Gt M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
| & 260,000
x2S Ot X2 (FHEEXY) 999,570 747,813 251,757
308 AFAIEHMSOIE 999,570 747,813 251,757
01 AXEHBEES 999,570 747,813 251,757
OZoll2& It X 999,570
Het2tel N - s R =8 1,800 0 1,800
202 04l 1,800 1,800
01 2LHoIH 1,800 1,800
Ot - 712 AR FA 1,800
M3 - =158 43 129,913,417 116,706,700 13,206,717
= 7,124,238
s 76,433,900
s 46,305,279
O =ael THoHCHE =& 55,910 31,800 24,110
201 Ler23| 31,420 14,600 16,820
01 At2teltl 30,420 14,600 15,820
o= g =4 30,420
02 S3=gHl 1,000 0 1,000
Ogt== AN E 3] Aelt| 1,000
202 04| 24,490 17,200 7,290
01 =LHOLI 24,490 17,200 7,290
OoNfjt=7 g2 =& 20,640
OMHHTAIY S22 =& 3,850
Mol I & X HHH(XMHATHHAIE WA X)) (2 12) 38,272,500 47,700,000 29,427,500
= 25,515,000
== 12,757,500
403 AXIEMSA=01d 38,272,500 47,700,000 A\9,427,500
[ 25,515,000
= 12,757,500
01 AXISHA=2E2 X 38,272,500 47,700,000 9,427,500
OXATHH RIS HA X+ HH| 38,272,500
[ 25,515,000
= 12,757,500
XﬂoH-‘?l%*IIC%“*HI(E%MII SUAENS) (F2)(=A 30,942,800 21,492,000 9,450,800
g
= 15,471,400
< 16,471,400
401 AIZHIX R0 30,942,800 21,492,000 9,450,800
s 15,471,400
= 15,471,400
01 A28l 30,425,010 20,744,000 9,681,010
O=d ALKl EHI 30,425,010
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SA KA R
M OB ST - =TI DH(DDEMNUE/THHLTY - 012
e Mg - s72sE Hat (Gt M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
= 16,212,505
=S 16,212,505
02 Zeltl 487,690 700,000 A212,310
OS A EH| 487,690
= 243,845
< 243,845
03 AlE S THYI 30,100 48,000 A17,900
O=dALXl EHI 30,100
[ 15,050
= 15,050
ol LI E X FHE(SZ AKX SR/ ) (2 D) 30,980,250 21,828,000 9,152,250
= 20,653,500
< 10,326,750
403 MR HMSAHE01H 30,980,250 21,828,000 9,152,250
= 20,653,500
< 10,326,750
01 AXIHHA=2 2L 30,980,250 21,828,000 9,152,250
O=dALXl EHI 30,980,250
[ 20,653,500
= 10,326,750
Mol IS X HEHE(SB AKX AEHEAN(RD)(EHE) 800,000 0 800,000
s 400,000
s 400,000
401 Al HIZL 201 800,000 0 800,000
= 400,000
< 400,000
01 Al&H| 798,000 0 798,000
OS B ARl AEHZA} 798,000
s 399,000
= 399,000
03 Al 20HHI 2,000 0 2,000
OS B ALl A A} 2,000
= 1,000
L= 1,000
oA XAHH (S+oH M2 SEH)(21) 17,550,000 17,415,000 135,000
= 11,700,000
[ 5,850,000
403 AXIEHMSA=0ld 17,550,000 17,415,000 135,000
s 11,700,000
= 5,850,000
01 MXIHHA 22X 17,550,000 17,415,000 135,000
O3#ofl M SSEHIALY 17,550,000
[ 11,700,000
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SA KA R
M OB ST - =TI DH(DDEMNUE/THHLTY - 012
e Mg - s72sE Hat (Gt M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
| & 5,850,000
M SEHHA 2E 11,880 120,200 108,320
201 et 3| 5,880 11,400 A5,520
01 At22t2l] 5,880 8,400 22,520
ONMHAEUH2E 28 & HHH2 g2 3,080
OXST L HSH=E M X & 2,800
202 04l 4,800 7,000 22,200
01 =LHN LI 4,800 7,000 2,200
ONHHNUH2E 28 & HHHR &2 4,800
301 EetE2 N = 1,200 1,800 2600
11 #AIAHIXIE = 1,200 1,800 A600
OXEYMAHE S AL R WS FH 1,200
THOHRIE X2 HBI(THHRAE M==XI)(=12) 675,000 450,000 225,000
= 450,000
S 225,000
403 XM SAH=01H 675,000 450,000 225,000
= 450,000
== 225,000
01 AXISHHA= 2L 675,000 450,000 225,000
OMaSE M= HbI 675,000
= 450,000
< 225,000
SEMFAE X(R+RE MSAE EX)(=1) 2,917,200 6,589,700 A3,672,500
[ 2,244,000
= 673,200
403 AXIEHHSA=201H 2,917,200 6,589,700 A3,672,500
= 2,244,000
=S 673,200
01 AXISHHA =2 & 2,917,200 6,589,700 A\3,672,500
OR+=MFAIE &X 2,917,200
= 2,244,000
< 673,200
20 HAZZ IS IHSAIE XM (21) 900,000 1,080,000 180,000
= 750,000
= 150,000
403 AXIEHMSAH=201H 900,000 1,080,000 180,000
= 750,000
= 150,000
01 AXISHHA=2EE 900,000 1,080,000 /180,000
O+ FAEZ NUSIUIHAIE EXAY 900,000
= 750,000
== 150,000
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2A:

T OINB WY - ZRI|E DH(SBENLOE/ LT - oIS
Rl g E - =758 YEt EER=E)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
8.9.~8.11. M6= EHZE 'St=' HicH SFHI(SSAIE)( 6,807,877 0 6,807,877
23)
= 6,374,238
[ 433,639
403 MR HHMSAHE01H 6,807,877 0 6,807,877
= 6,374,238
= 433,639
01 AXISHHA=2 22X 6,807,877 0 6,807,877
©8.9.~8.11. M= EHE 'It=' Ldh SR (S3
A&) 6,807,877
= 6,374,238
= 433,639
SN2 AR (XHATHE ) (O1EHIIEH) 37,330 38,692 1,362
Jl=2dsl 37,330 38,692 1,362
FNE2F Jl=3Hl 37,330 38,692 1,362
201 fet= 3| 26,130 28,252 N2,122
01 At 2|l 26,130 28,252 N2,122
FN2E AIR2e/ 26,130
202 04| 7,600 6,840 760
01 SLHoIH 7,600 6,840 760
SA2E U 7,600
203 HP=H] 3,600 3,600
M PAZSL2FAI 3,600 3,600
©202! Olat 3,600
HRES (KAL) (SSE ML /THHUTY - IEe) 424,000 436,000 212,000
WA XIE 424,000 436,000 A12,000
Mol P& X+ &l 424,000 436,000 212,000
705 D=2 3cISaiE 424,000 436,000 212,000
03 Al - EXISHED IS0~ St 400,000 400,000 0
©'09 Mo ?IE X+ ZH| 400,000
04 Al - ZXSH2 DS 0= 01 Ahatat 24,000 36,000 212,000
©'004 oA X7 EH 24,000
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